EARAROBEEIERT — 2 N— IBISH —F

2019597130 (&) 7EIAH5H

IGli5E C3— ¥ 5R—ix

‘(36«;} 8 ‘ (EmmEl  — | 4 (@) 15000 B

[A&£] 1 7 :900,000  ~ 23&:315,000  ~ 33 :180,000 @ ~ 43 :135000 9 5 7 :90,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o FMHEFEA :37. 22— . — HOEZ (@)
i l8l10| 7= zss— b o4 TaeIm: 1(3_7)7 2-2-2-2 | 40.7 2 <4+411) ea
Z:nNd B:7Oy bATS5T EH %7
> # o6 | EtEflE 1:38.0 1-1-1-1 | 41.3| — 4 487 | FHBEE (01E)
EHG AL 3ITa2HT 56.0 (1 1/2) © () J PN
L:wy)EdvER B:Xa/YLThE e EE 45035
TR > 4t 5 | HHHEX 1:38.2 8-8-7-4 |39.7| — 6 458 | BIFFIEME (fRf)
3178 77"7/1[: ~ 58.0 (11/2) -2) $HAREMmMER
LY LTAN=F B:vAXNyEY TR E—
o6 | HilRIhEA 1:38.3 7-7-8-8 | 39.8| — 7 431 | HOF (B
41717 Y AF 56.0 (1/2) (+4) FHERE
R:T14—TxAhA4 B:vAHF-4 Bllikae]
_ . 1|38 :38. ~6-6- . - EH—RI (GaF)
5 4| TATY Ty Z— i 54.0 (11 318/26) 6667 | 40.3 s 3763; IXIXE (B)
RHYIRT TR B:T4T7vTT7rER Elize]
S 4 7 | FEREE 1:38.7 3-3-3-3 | 41.4| — 1 470 | RARTE (intE)
6l1/1|F~>=2 54.0 (3/4) (1) | BETE
R:TIvIEAF BT vR—F— ke
= v 4 8 | POEFILE 1:38.8 5-5-5-5 |40.9| — 5 463 | HEILMR (AFn)
7189 | AAA1Z2Y— 54.0 (1/2) (+5) | TR
LiL¥a7—4>N— BIRILH—-~N— =% e
R i 5 | BRA 1:38. 10-10-10-10{ 39.4 | — 8 464 | WigSe (AFn)
8 3| NED> A51.0 (7E) (+2) | KERZE
LT IYELTR B:XeTo b 2
S B 46 | FEEE 1:39.1 9-9-9-9 |40.2| — 9 454 | TEE(RES (AF0)
9/5|5|77vI7tEIR 56.0 (1 1/2) 6 | W TTI T
Rixrvrhs/EeE BiE—TTTyN— +tH BEF
3 DI 2t :39. 44~ . = NSRS GaFn)
10 2 743 %43 % 5 R 1(73513:>2 4-4-4-6 | 41.5 10 (4+757) Vqﬁ%z
LHIRT TSR BTy I RE— ENiGEe
® 1—F—@EBIERL
1T=7r= 6,10,1,2,9,4,7,8,5,3
2a=5F= 6,10,1,2,9,4,7,8,5,3
Ja=5= 6,10,1,2,9,4,8,7,5,3
40—+ — 6,10,1,8,9,2,4,7,5,3
[ N5
B 10 740H 714K 6-10 1,680 e E 6-8 3,180M JEE 6-8-10 16,0604
B B 10 230H 8-10 1,620M e B 8-6 5,710 EE 10-6-8 96,670/
6 380H 6-8 2,660 B & 6-10 4,340H
8 440M B H 10-6 10,420M

ABICOVWTRDTEEERROODE. TR LIV,




